Chapter 7 Task B

Case Study 

The Ehrlichs began saving for their retirement by depositing $100 into an account at the end of each month, at 4.5% compounded monthly. Their intensions are to continue this payment plan for 5 years, then take a lump sum and invest it in a guaranteed investment certificate (GIC) for 25 years at the going rate at that time. 
They repeat this plan every 5 years, increasing their monthly payments by $50. With all their guaranteed investment certificates maturing at the same time, they are now ready to retire with a nice sum of money. They will invest this sum of money into an annuity that will provide monthly income for the next 30 years. The table shows the interest rate on each of their investments.

	Investment
	Interest Rate

	First 5-year period, monthly payments of $100
	4.5% compounded monthly

	1st GIC
	8.7% compounded semi-annually

	Second 5-year period, monthly payments of $_____
	3.2% compounded monthly

	2nd GIC
	6.5% compounded semi-annually

	Third 5-year period, monthly payments of $_____
	1.2% compounded monthly

	3rd GIC
	4.8% compounded semi-annually

	Fourth 5-year period, monthly payments of $_____
	2.1% compounded monthly

	4th GIC
	5.5% compounded semi-annually

	Fifth 5-year period, monthly payments of $_____
	1.8% compounded monthly

	5th GIC
	4.2% compounded semi-annually

	Sixth 5-year period, monthly payments of $_____
	2.4% compounded monthly

	Retirement annuity
	5.4% compounded monthly


a) 
Determine the value of each of their montly investments, at the end of each 5-year period. Then find the amount of each GIC by their retirement date.
b) 
Determine their monthly income during their retirement.

c) 
The Ehrlichs’ retirement plan does not show an increase in monthly income over time. Suggest an improved plan and show mathematically how it can be achieved.
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